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5 th YearAlgebraChapter2Test2

Solutions

November 18, 2013

1. Solve the equation x> — 6x + 5 = 0.

Hence solve fully the equation

(:—?)2—6(r—£;]+5=0.

Pk | Solve:  x*- bx +S=o0
(x-S )x — )=o
> x=§ ) X = |
- E-%
fhat > he X= € c
(Shen x=$ When X = |
—e - L =€-&
Se=¢t*-6 e = £-C
Lgr-5€-6 =0 e -6=o0
(e - 6Nt *1)=0 (-3 Xe+2)=0
t= ¢ , E=-I =3 ,6="2

Thete aee 4 Solutions :

b= -2, k=-1 ,€=3, €E=0
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.. @ 1fr andr,are the roots of the equation x? —V3x — 6 = 0, evaluate ryr,.

X (G )x + (Pept) =0

S R4, = -b
(feodhuck)

%@ Find the range of values of k so that kx? — 2kx — 3k — 12 =0 has real roots.

A;blfémc 20 if Kookt ke Raol

a=k A= (-2k) =4 (K)(-3x-12)
b=-2k = UK +2KP+ 45K
C= -Sk’ll = lékl_!.(‘.gg

Conselep. ! '% k>0 5 A=>o
If K=o = Db=°
If K=-3 2 A=0
If K is negative, bss han -3 K<-3 3 A >0
IF K is h.,rﬁuc,b&W’SWJO-@ D<o

Oosts are wasl I K20 o K73
i OEKE -3
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-1+V3 _

4. Show that — —
1 +v3

1 +5 _ (+8)(1-8) - 115345 -3

| + 3 (1+93) C1- &) =3
Do TS.
= —4+203 - 2-13
2. QED

5- ®. ractorise fully x* — x2— 14x + 24.

Hence solve the equation x* — x? — 14x + 24 = 0.
Step) : Guess *o firol Koot & factoe
e £ )= X3-XE-lax+ 24

Fl2)=(2)*- (2)* -4 (2) +2%
-9-4-28 13 =0
Step2 : Divide. to get quacleoiic facke
Xt +X—IL o
X=2) XP-X*—[#x +24
Iy I
X7-14X%
it ax

—124 +2
T 1dx F 2

Sheps: Fackpise oA e e puadatic foche
X*+Xx-]2 =0
(Xt #)X—3 )=0
S X=-%, X=3
Fackves : ('x-—z)(X~3)(X""*)
Glhonst K= 2, X =% X=

S x=2 i a gt
%& (x-2) is a fache

AN.SLJE'QS-'



5th year algebra 2 test solutions.notebook November 18, 2013

Find a cubic function for this curve

Pooks : X=-0-5 , X=3 X=6

? o] A faches  (X+%) (x-3)(x4)
20- fun o 7

1 f(x): KO”Q)(X—’S)(X«A)

(—0.5,0)

1 contains (1,30)

EY FO) = K (I+%_)(|—3)( (‘L)=30
k ($)(-2)(-5) =30

—Y

N IS K= 30
K= 1
fx) = l(x+g)(x-'s)(><—é)
m‘aw{ = (J.x+()(><7'—-éx—3x+l8)

= (2x#)(X=9x+18)
= 2x3-[8xX't3bx +x*—9x +18
ANSWER.: fo) = 2xP—1IxF 423X 18
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